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XEm| 2Em|ES] 1 &2 v |BEsuE ns |Belusw me B8] v B8] v |F8] v &8 uE

&M | R% Bl | &5 [Z&HB 0.0 0 0 ] T
EFm | REF Bl | EF 0.00+105 105 105 N B |Ek
EFm | REF Bl | EF 0.5 259 364 B A |His7Em B |Z=%
EFm | REF Bl | EF 0.50+276 277 641 387 |B N B |Ek
EFm [ REF Bl | EF 1.0 199 840 B A |His7Em B |&=%
EFm [ REF Bl | EF 1.00+65 65 905 B A [His7Em B |&=%
EFm [ REF Ell | 5% |RwXE 1.00+385 320 | 1,225 N B |Ek
EFm [ REF Bl | EF 1.00+420 35| 1,260 B A [His7Em B |&=%
EFm [ REF Bl | EF 1.5 88| 1,348 389| B N B |Ek
EFm | REF Bl | EF 1.50+180 180 | 1,528 B A |His7Em B |&=%
EFm | REF Bl | EF 1.50+480 300 | 1,828 ag5 [LA_|H1e7RE B |&R-E&
EFm [ REF Bl | EF 2.0 27| 1855 B N B |&R-E&
EFm [ REF Bl | EF 2.5 486 | 2,341 B N B |&R-E&%
EFm [ REF Bl | EF 3.0 357 | 2,698 B N B |&R-E&%
EFm [ REF Bl | EF 3.00+270m 270 | 2,968 B A [ns7=| 386 | B |Z=ik
EFm | REF Bl | EF 3.5 199 | 3,167 B A |His7Em B |&=%
EFm | REF Bl | EF 3.50+25 26| 3,193 39| B N B |Ek
EFm [ REF Bl | EF 3.50+95 70 | 3,263 B A [His7Em B |&=%
EFm [ REF Bl | EF 3.50+130 36| 3,299 B A [His7Em B |&=%
EFm [ REF Bl | 57 |RBEXE 3.50+250m 120 | 3,419 B N B |Ek
EFm [ REF Bl | EF 3.50+270m 20| 3,439 B N B |Ek
EEFm | REF Bl | EF 3.50+290 19| 3458 B B |Ek
EFm | REF Bl | EF 3.50+330 41| 3499 B |Ek
EFm | REF Bl | EF 4.0 140 | 3,639 B B |Ek
EFm [ REF Bl | EF 45 531 | 4170 397 B B |&=%
EFm [ REF Bl | EF 4.50+135 135 | 4,305 B B |Ek
EFm [ REF Bl | EF 5.0 422 | 4727 B |Ek
EFm [ REF Ell | 5% |[FHESE 5.00+300 301 | 5,028 B |Ek
Pt adiil =H Bl | &% 5.00+365 65| 5,093
Pt adiil =H Ell | £F [EEENER 55 0| 5003
Pt adiil =H Bl | &% 5.50+100m 100 5193}, .| B [, A
Pt adiil =H Bl | &5 5.50+120 22| 5215 B A
Pt adiil =H Bl | &5 5.50+160 37| 5252
Pt adiil =H Bl | &5 5.50+200 42 | 5294
Pt odiil =H Bl | &% 5.50+225 24| 5318
Pt adiil =H Bl | &% 5.50+285 60| 5378
Pt adiil =H Bl | &% 5.50+305 21| 5399
Pt adiil =H Bl | &% 5.50+325 19| 5418
Pt adiil =H Bl | &5 5.50+395 70| 5,488
Pt adiil =H Bl | &EF 6.0 132 | 5,620
Pt adiil =H Bl | &% 6.00+70 70| 5,690
Pt adiil =H Bl | &% 6.00+85 16 | 5,706
Pt adiil =H Bl | &% 6.00+130 44 | 5,750
Pt adiil =H Bl | &% 6.00+155 26| 5776
Pt adiil =H Bl | &5 6.00+215 59| 5835
Pt adiil =H Bl | &% 6.00+285 70| 5,905
Pt adiil =H Bl | &% 6.00+405 121 | 6,026
Pt adiil =H Bl | &EF 6.5 73| 6,099
Pt adiil =H Bl | &% 6.50+180 180 | 6,279
Pt adiil =H Bl | &% 6.50+190 10| 6,289
Pt adiil =H Bl | &% 6.50+335 145 | 6,434
Pt adiil =H Bl | &% 650+345 10| 6,444
Pt adiil =H Bl | &EF 7.0 207 | 6,651
Pt adiil =H Bl | &% 7.00+25 25| 6,676
Pt adiil =H Bl | &% 7.00+35 10| 6,686
Pt adiil =H Bl | &% 7.00+100 65| 6,751
Pt adiil =H Bl | &% 7.00+110 10| 6,761
Pt odiil =H Bl | &% 7.00+220 110 | 6,871
Pt adiil =H Bl | &% 7.00+230 10| 6,881
Pt adiil =H Bl | &% 7.00+430 201 | 7,082
Pt adiil =H Bl | &% 7.00+470 30| 7112
Pt adiil =H Bl | &EF 75 25| 7137
Pt adiil =H Bl | &% 7.50+125 125 | 7,262
Pt adiil =H Bl | &% 7.50+135 10| 7,272
Pt adiil =H Bl | &% 7.50+250m 115 | 7,387
Pt adiil =H Bl | &% 7.50+305 56 | 7,443
Pt adiil =H Bl | £ [BIER#HER) ]7.50+350m 45| 7488 A
Pt adiil =H Bl | &EF 8.0 120 | 7,608 A
Pt adiil =H Bl | &EF 8.5 542 | 8,150 B A
Pt adiil =H Bl | &% 8.50+130m 130 | 8280]406| B [407 A
Pt adiil =H Bl | &F [/hhiE 8.50+450m 320 | 8,600 B A 408| B
Pt adiil =H Bl | &EF 9.0 18| 8,618 A
Pt adiil =H Bl | &EF 9.5 490 | 9,108 A
Pt adiil =H Bl | &% 9.50+80 80| 9,188
Pt adiil =H Bl | &EF 10.0 425| 9,613
Pt adiil =& Bl | EEF 10.4 396 | 10,009
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R Rél(m)| 2 H(m) ES EsluEl mE |EsluE W &8 ES| HE
EH%m | EH B e 0.00-150m 0
Pt adiil =H E)I 0.0 150 0
Pt adiil =H E)I 05 382 382 392.1
Pt adiil =H E)I 0.50+150m 150 532
Pt adiil =H EJI 1.0 469 | 1,001
Pt adiil =H E)I REHKEE 15 529 | 1,530
Pt adiil K& B 1.50+180m 180 [ 1,710 B
Pt adiil =H E)I 1.50+300m 120 | 1,830 B [st#sm 300 | B
Pt adiil =H E)I 2.0 132 | 1,962 B [st#sm B
Pt adiil =H E)I 2.00+180m 180 | 2,142 391| B |#man B
Pt adiil =H EJI 25 358 | 2,500 B [st#sm
Pt adiil K% B 2.50+100m 100 [ 2,600 B [st#sm
EFm [ REF E 2.50+395m 295 | 2,895 B |Ek
EFm [ REF B 3.0 249 | 3,144 B B |Ek
EFm [ REF E 3.00+395 396 | 3,540 304 | B B |Ek
EFm | REF B 3.5 99 | 3,639 B B |Ek
EFm | REF E 3.50+51 51| 3,690 B B |Ek
EFm [ REF E 3.50+105 54| 3744 B |Ek
Pt adiil K% E)I EHXE 3.50+315 210 | 3,954 395| B 393 |-B =%
EFm [ REF E 3.50+334m 19| 3973 B |Ek
EFm [ REF E 3.50+395 61| 4,034 B |Ek
EEFm | REF E 3.50+434m 39| 4,073 B B |Ek
EFm | REF B 4.0 47| 4,120 B B |Ek
EFm | REF E 4.00+440m 440 | 4,560 B B |Ek
EFm [ REF B 45 21| 4581 398| B B |&=%
EFm [ REF E 4.50+50m 50 | 4,631 B B |Ek
Pt adiil =H E)I 5.0 554 | 5,185 B
Pt adiil =H E)I FHEEE 5.00+225 224 | 5,409 B 400
Pt adiil Potod E)I 5.00+305 129 | 5,538
Pt adiil =H E)I 55 32| 5570
Pt adiil =H EJI 5.50+205 205 | 5,775
Pt adiil K% B 5.50+265 60| 5835 402
Pt adiil =H E)I 6.0 256 | 6,091
Pt adiil =H E)I 6.5 462 | 6,553
Pt odiil =H E)I 7.0 498 | 7,051
Pt adiil =H E)I 75 470 | 7,521
Pt adiil Potod E)I BN E (i) |8.0 510 | 8,031
Pt adiil =H EJI 8.5 466 | 8,497
Pt adiil K% E)I INTTAE 9.0 580 | 9,077
Pt adiil K& B 9.00+445 445 | 9522
Pt adiil K& EJI 9.00+515 70| 9,592 409
Pt adiil =H E)I 9.5 8| 9,600
Pt adiil Potod E)I 9.50+160m 160 [ 9,760 410
Pt adiil Potod E)I 9.50+313 145 | 9,905
Pt adiil =H E)I 10.0 184 | 10,089
Pt adiil =& E)I 10.4 423 ] 10,512




